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teachers,

B

Booklet Code

Part - I : Child Development and Pedagogy

Students, to behave in accordance
with the morals and ideals of

teachers’ behaviour
should be in this level of Kohlberg's
Moral Development theory.

(1) Abstract conventional

(2) Conventional

(3) Post conventional

(4) Pre conventional

s, ﬂb;"éa‘.iutk‘ﬁ: pO¥em oo
s GSulooreed

For an effective classroom teaching
this is also important along with
readiness, content construction and
instructional order, according to
Bruner.

(1) Reinforcement

(2) Attention

(3) Retention

(4) Reproduction
penl  Bode, e BUXOS
TR Bptustom S0ouTy, WHEb,
LRgR mme, nbstrared oo Us

LoNe

(2) woose
3) o

(4) Yteonise

3.

[2]

A person’s interaction with
environment results in the
development of this ....

(1) Genes

(2) Instincts

(3) Personality

(4) Aptitude

53 B wonoed =0 @Eouve

(1) =Nogpes Urdrelooran,

(2) oo SrDoloon.
(3) =olhobe Godralsbeel.
(4)  upe ey o trdreletesl.

One of the following is not a sub
test of Differential Aptitude test.

(1) Mechanical reasoning
(2) Verbal reasoning
(3) Spatial relations

(4) Artistic relations

(3) (DER Bovepm

(4) SenXienedrus
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Among the following methods, the
method that have high
‘subjectivity’.

(1) Observation method
(2) Case study method
(3) Experiment method
(4) Introspection method

300 Wi SEtoed® el Tk eflem e
5o

Q) sohem 500

(3) Saenssd

(4) wot: wlser 350

=

¥

In this type of counselling, the
counsellor plays a major role than
the students in solving behavioural
problems of students.

(1) Non directive counselling

(2) Eclectic counselling

(3)  Directive counselling

(4, Career counselling

Dorgbse ESOP Wosols BONSotond’
TS JEET SFOGEG  (Heodioued
wSlsie Gol SocPro

(1) R seegree
(2) Eainre wepoe

(3) @'i: o

(4) Sotme Seedee

TET-111-EM/TM

Booklet Code B

The behavioural changes that occur
due to this in an individual can not
be considered as learning.

(1) Experience

(2) Maturity

(3) Imitation

(4) Training

w 308

ot Lo PO : s
s Bonen =S (SRl SSUanThs
. 5y % S -
ST SoNriosSa.

s A

(1) ehgte
(2) SoeEs
(3) wuoibes

(4) b o]

Choose the correct statement in
respect of growth and development
of an individual.

(1) Growth is a part of the
development.

(2) Growth and development
continue throughout the life
of an individual.

(3) There are no individual
differences in growth and
development.

(4) Development is quantitative,
Growth is quahtative.

= e W Ry T D e al AT e Y T AT -
u*..;. SN ODD, WJTAORY St T h:‘tnu' CFound

i
odotot.

(1) SdeinSe Dsissd® S5l dowsall,
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i
i

(2} oDobe, DUoGooes

- T R L Il
(3) oo, Doiutod® JadE Poroasliy.

(4) Zzs
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1“.

NCF - 2005 suggested that the
conduct of TLP should be this
centric

(1) evaluation centred
(2) teacher centred
l'.i?;] student centred
(4) content centred
A= < et

= - e i
Sofom SHEWM STt 3o

arsren NCF - 2005 2o2c20n.

(4) el Zodbom

Sudhakar, an 8th class student,
frequently experiences the
following critical situation in
respect of personality development.

(1)
(2)
(3)
(4)

Identity vs Identity confusion.
A-utnnnmy vs Shame
Initiative vs Guilt

Industry vs Inferiority

= F
85 bUND LEpooy, Wegal Somduon
AN BUGeT Os

S e S et s

B e

:&G@un

N
et

(1) o= 2 vs ooy Befiee

(2) ciio BTSD VS WG
(3) T vscuowe

(4)

L b,y
FRsch VS B
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11.

12.

4]

B

Padmaja is studying 3rd class.
During holidays she does not like to
do homework but likes to play. But
due to this motivation, she does the
homework with a fear that the
teacher does not like her.

Booklet Code

(1) Social

(2) Extrinsic

(3) Intrinsic

(4) Achievement

Sl el DU Loopleln DL waen e
axaed® BNk, Sabts 3ie dets. o
ookl FSNotel. DU bt BN
SEREEd YoweS SRen;, daeed® o
e

(1) Srojes

(3) eeub

(4) >

A teacher to test this of the student
narrated -a concept in the story
form and made the students to
narrate the same concept to other
students.

(1) Relearning

(2) Attitudes

{3) Recognition

(4) Recall

aSaunt BENSEt LY PPl SPUsest
9% el SReverd, LEJG:":E‘ 1l AT LAY
TinoTreo. 06 BN Bave Sahomis

(1) Leggsie
(2) oo
(3)  Releid
(4) o 380
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14.
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A person observing his friend
failing in playing cricket, helped
him by supporting required skills to
excel. The transfer of learning that
occured .....

(1)
(2)
(3)
(4)
B35 wieos® Jpoisiptiotn Dogiom, oo
e¥ 53 eBI BA5 JooBsoss Srlod
Triotstenm™ Mitoie I, gine =0A%

Negative
Zero
Positive

Bilateral

(4)

“Students attitude towards

teaching”, can be assessed by
using ...

(1)
(2)
(3)
(4)

Rating scales
Interviews
Projective tests
Cumulative records

S S dogtice 20D AY o WA
e T

S,

(1) 2Jowes neavoo
(2) =oocoae

(3) ot olizen

(4)

15.

16.

(5]

B

Observing of students in a specific
controlled situation to study their
helping and cooperative nature,

* Booklet Code

g - A

(1) Natural observation method.
(2) Case study method.

(3) Interview method.

(4) Controlled observation

method.

Sontredt witaR, WRTN ER)decie
oo Dok ¥ 209, JoReds
‘.;'L;.'i-‘.‘.aé‘ T S mits,

(1) S 500 350

(2) %3 cditoh 850

(3) =05 w80

(4) SoUo|D6 Blveh 83

According to Ebbingus, the

percentage of forgetting of the
learnt material of an individual at

the end of  sixth day

- SR

ROl (IR0, LX Bd O Slinlas D6
- Al = L (29

estsfer D =08 i3, 30 8

(1) 50%
(2) - 25%
(3) 60%
(4)  TH%
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17. According to ‘CCE’, ‘conduct of
evaluation continuously through-
out the academic year’, means ...
(1)  before, during and after the

teaching learning process.

(2) as a part of the teaching
learning process only.

(3) at the end of the teaching
learning process only.

(4) at the beginning of the
teaching  learning process
only.

SUSSD ol RoPonolilia EWs Ll

:.“v:_-‘.:::"‘:éséi Sorgh ol LOoLUo

o enecdt ele.

(1) Loy @@l Sesds, SUgnes
rnsciedt, boub, :

(2) Somgim ddondt e Srgdo.

(3) ST Sidab YD woxh o
Segsae.

(4) Semvsn @das  Sueand’

18. A teacher unable to establish
interpersonal relationship with his
colleagues underwent stress and
got relieved from it by showing it in
the classroom on the students. This
is an example for .....

(1) Projection

(2) Displacement

(3) Repression

(4) Regression

AMEreasntis B SsTeedt

...."h....i";";...}.u..:'i B0 Bsusproile

neSes T, Lol AT, e RSN

BEXSE Logien  SRbedsw  Twor

oot e Je e

(1) =Seees

(2) Z3F=udes

(3) sooties

(4) Eonsutes ‘

TET-111-EM/TM

19.

20.

[6]

B

A child at this stage behaves like an
investigator by enquiring about the
concrete concepts in different ways.

Booklet Code

(1) Early adolescence

(2) Later childhood

(3) Early childhood

(4) Puberty

Fowy T NG But 5Uhed ol BTN
0el B0S0 Igesm BN Gdgindn
(1) s Tuouss

(2) Bt el

(3) Iy wes

(4) owlybey &%

At primary level, a student

observed the writing of the teacher
and habituated to write in a similar
way. The learning theory involved
in this is ....

(1) Trial and Error learning
(2) Insight learning

(3) Social learning

(4) Programmed learning .

SRS TFond® LoD, SR AL

x : - - PR = -

w3 SRORGG Lsate TR Coesi
. =~ ~4

Sl SELLnITTS qo=es

(1) sy egse
(2)  woblipsegsmnn
(3)  ogel cggiie

(4)  =oEtecianeb ciine

According to RTE. Act-2009, if
students’ strength in a primary
school is more than 200, the
teacher pupil ratio, excluding H.M.
should not exceed .....

R.T.E. Act, 2009 gsExss» >gos

Sured Longse Sop 200 30 Jmam
Gt SoPFpcnt poem elpan,
Lol w0 BRE Ssotden dod.

(1) L:2d

(2) 130

(3) 1:35

(4) 1:40
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22.

23.

24,

The approximate
‘educable -
children is ..

'! - " -

A A W o R -w b ot O]
R e B et ..A....,w 5\‘3 e
&

1.Q. of the

mental]y retarded’,

- -’ i ~
OO Th adiol™ aceool.

(1) 30-70..
(2) 1-2G-
(3) 20-39
(4) 30-50.

Raheem at the age of 12 yrs, has
passed class X with good grade. His
mental age when cnmparcd to his
chronological age is .

(1) High

(2) Less

(3) Equal

(4) Very low

Biro 3% ot Belimre Hand’s

ol e

4 A, e
LUNSS” &GS *:rE-EE‘ uuwﬁ?ﬁ

According to Piaget, children of
this stage solve problem by testing
hypothesis and thinking
multidimensionally but not
unidimensionally.

(1) Sensory operational stage

(2) Concrete operational stage

(3) Formal operational stage

(4) Pre-operational stage

DEPE EUs T oD EXS° oo Bladn
BoEed’ 2 Frod® mon I5Sered’
G DoBt0, SIS PN eduts 3830t
o ._u'.';. Birts.

(1) =obas ook Suv

(2) oo goweX &%

(3) it Gores B9

(4) 5 pores %
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2 E‘

[7]
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Children learn by exploring their
world and by experiences, but not
by rewards and reinforcement. This

(1) Behaviourism

(2) Cognitivism

(3) Associationism

(4) Psycho-analysis

83 @Uc bges bio @SoTy eidged,
SefiTre OO ediitorn, ol =0
wioNotoss, RENGETe N TS

o

(1) o oe

(2) Segrtl Tlo

(3) =oll oo

(4) :;:.'5‘.'}-'&“.5.;':

The preparation of plans by the
teacher for conduct of teaching
learning process belongs to this
stage of teaching.

(1) Reactive

(2) Interactive

(3) Post-active

{(4) Pre-active

EFEEN, ST Sl slnpeD
Serl¥es SFloSdior Tr Suor SEH
wedsiecd.

(1) @aooss

(2) =UHt Songl
(3)  aus vonss

(4) Sro TS
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27. Inspite of providing -effective

28.

teaching, training and other
facilities learning doesn’t occur in
the student due to lack of maturity.
This can be explained by this
learning principle.

(1) Reinforcement

(2) Exercise

(3) Effect

(4) Readiness

Eerunctdss 5%, W, 380 Bdares
Sholutd? B0uE® BD TOoow 2TQE

GRS wliBds. A0 2u8ed e

o

(1) s
(2) wPst
(3) oo

(4) ok

In teaching EVS of class-V, a
teacher during his teaching
learning process, encourages the
students by participating himself
and giving opportunities to express
their  thoughts, ideas and
suggestions. This type of leadership
I8

(1)

Participative
(2) Permissive
(3) Laissez faire
(4) Directive

RSN BUXS BONCw Pk ST
BEas® Jotoe GuY, b, P,
ey Woalnel uNTwlaT, BEun,
oisr @2Eaed’ PFour FEFAdsS ©
&Foraions 3od oY ofrFoo .
(1) Sl asSte

(2)  <icind TeoE rdbte

(3) &£%Einb rabsite

(4) 538 oSt
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29. Among the following learning

30.

[8]

theories, this gives  more

importance to ‘response’.
(1) Bruner’s Theory of instruction.

(2) Skinner’s operant

conditioning.

(3) Thorndike’s Trial and Error
learning.

(4) Pavlov’s classical
conditioning.

a8 etister ?»}D‘__:aﬂuéi SO EN D ol

SRR BIS

(2) 7 238 sE3gs Twogne
(3)  TUEEE aowy- B egipsie

(4) " >55% Fféa:ﬁ: Srelhe

The most helpful activity for the
development of psycho-motor
domain among the children

(1) Essajr writing competitions
(2) Playing games

(3) Mock Parliament

(4) Elocution competitions
Dgtpes® LAhY Yool JInSuaun
B LYo SEEE Hee

(1) =gsons SFdes

(2) esesemiion

(3) =sors oo

(4) o ] R T8 IE
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Part II : Telugu {Lang'uagé - 1)

31-35. 300 350 50D 31 S0l 35 S¥p | 36-40. 208 SEvo 30D 36 wwod 40 FHeDH
oo Hodotod. wreoes HoBoted.

Bron DS Sesas, BN 28
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ey
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(4) &3 seopRoch. EERN0 QN B0 DAked okt de.
34. a‘ﬁﬁmméﬂp ;:lr::-»nn’ - GOSN XD - 2.2, 56y 05 18 vl 38 ol wel 1y
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(2) s
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(3)  eesa %o wold SRBETAN. A o5 BUKo P03

(4) ziz= T 24500, 02 ele IED TONeD SN
35. Ui oo S kot 3200 PR, P LES BOND Lge e

(1) Biog, e, e gtoel. 4 SESET. U BUS EAG Ut pNto D8I,

(2} ooy, goe, Srese woite ST
--7
(3) sy, e, e - SR honsey S8,
PSS - w5 56

(4) s & Sepes JosBnd
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37. 5y s e
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(2) e

(3) (roie

(4) Foaourse
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>art-IIT : English (Language - IT)

61-65. Read the following passage. tradition of poverty.” The .world
responded and honoured him not merely

Rabindranath Tagore’s emergence | as a poet, but as a Poet Educator, as

as an ‘Educator’ was completely a matter | Gurudeva!

of personal development, a necessary Now answer the following questions

outcome of the entire course of his life | choosing the right option.

and experience. He was born into a .

house, which had been a center for | 61. Tagore turned cosmopolitan ......

numerous ethnic and social movements (1) Since he was traditional.

and a nucleus of all sorts of progressive (2) Since he was a self educator.

ideas and actions. Tagore absorbed all | (3) As he absorbed western and

the rich and varied elements of eastern eastern culture.

and western culture that made him a (4) For being a poet.

cosmopolitan. Tagore found his days in : -

traditional school wasteful and [ 62. Tagore had strong poetic sense

oppressive. He had acquired more besides ..... e

knowledge by self-education that gave (1) Proficient in psychology.

shape and direction to his numerous (2) Proficient in music and arts.

powers and potentialities. He evolved as (3) Being adept in sports.

an educated par excellence. Tagore was (4) Being tactical.

at home in humanities as well as

sciences; besides having a strong poetic | 63. Santiniketan was founded .....

sense, an in-depth intuition with (1) As an education centre for

philosophy, and profound relation with Bengalis.

music and arts. The tangible (2) To impart education amongst

embodiment of this realization was the poor.

Santiniketan. It was founded on 21st (3) As a centre for meditation.

December 1901 at the land purchased by (4) 'To realize Tagore’s dream.

his lather Maharshi Debendranath to . — '

establish a place for meditation. Initially, | 64. Tagore wrote ‘I wish to keep my

there were five students, ‘all boys and all student‘s --- Indian tradition of

Bengalis’, four of them from Calcutta poverty” to ... )

and the fifth the founder’s son. (1) the Govt. of India.

Rabindranath Tagore himself described ~ (2) the government of Bengal.

Santiniketan as his ‘tangible poem’, as (3) the Prince of Tripura.

the boat, the ‘golden boat’ ‘sonar tori’ (4) the Prince of Patna.

carried the best cargo of his life. In a y ) :

letter to the Prince of Tripura, the poet | 65- Tagore attributes his tangible poem

educator wrote ‘I wish to keep my to ..... ) )

students away from all the luxuries of (1) I“dlffn_SUh‘m“tmE“t-

European life and any blind infatuation (2) Santiniketan.

with Furope and thus lead them in the (3) his philosophy.

ways of sacred and unsullied Indian (4) his disciples.

TET-111-EM/TM [13]
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66-70. The following passage has five | 71.

numbered blanks, For each blank
‘four alternatives’ are given.
Identify the correct option for each
blank. : (i)
Hi ! T am Renu. Well, I (66} as the | (1)
fourth child in a family of seven. It | (iit)
was fun. I never (87) to look for (iv)
{riends to play with each other too
but we were always great friends.
On the other side, food was not in
plenty because my father’s (€8)
income wasn’t anything much. We
had to share many things in our
life. Well, that taught me how to
share and be happy with (69) we
had. The best part of it was that we
ail learned to eat (70) that came our
way.

66. (1) grewon
(2) grew away
(3} grew out 72,
{4} grew up

67. (1) had
(2) have
(3) liked
{4) has

68. (1) grand
(2) sole
(3) joint
(4) Jhuge 73.

69. (1) very little
(2) little
(3  alittle
(4 the little

70. (1) everything
(2) something
(3) anything
(4} nothing

TET-111-EM/TM [14]

Booklet Code

B

Read the conversation openers
labelled as (i), (ii), (i) & (iv) given
on the left and their responses as
(a), (b), {¢) & (d) on the right.

How’s it going ?

(a) Same here.

Lovely weather ! (b) Great.
I'll be in touch. (e) Bye for now.
It’s been very  (d) Yes, il is.
interesting
talking to you.

The sentences (i), (ii), (iii) and (iv)
can be matched respectively as ....
(1) b,e,d,a

(2) b,d,c,a

(3) a,d,ec, b

4) ec,a,db

The underlined part in one word is
pronounced in the same way as the
letter ‘s’ in ‘measure’. Find it out.

(1) accent

(2) dozing

(3) garrage

(4) passion

We unlocked the door and entered

our apartment. We were ...
shocked to find the whole place in
disarray.

Identify the verb in passive voice in
the above passage.

(1) find

(2) unlocked
(3) entered
(4) shocked

Page - 14
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74.

75.

76.

TET-111-EM/TM

1 saw him crossing the bridge. The
structure of the underlined part of
the sentence is .......

(1) Subject + Verb + Pronoun +

Present Participle.
(2) Subject + Verb + Noun +
Gerund.
(3) Subject + Verb + Pronoun +
Infinitive.
(4) Subject + Verb + Noun +
Past Participle.

There is no coffee - Would you like
a cup of tea instead ? Identify the
part of speech of the underlined
word.

(1) preposition

(2)  conjunctior

(3) adjective

(4) adverb

You make a face .......

(1)  When you deliberately ignore
them.

(2) When you want to control
your laughter.

(3) When you are not pleased

about something.

(40 When you accept it in a

straight forward way.

7.

78.

79.

80.

115]

B

Those who have learnt English use
terms like ‘thank you’ and ‘sorry’
more often than others who have not
learnt English. It means that ...

(1)

Booklet Code

Language is arbitrary.

(2) Language exhibits
redundancy.
(3) Language is creative.

(4) Language transmits culture.

Using gestures, expressions and
actions is one of the techniques
used to teach .......

(1) Grammar

(2) Spelling

(3) Vocabulary

(4) Pronunciation

Capital letters are not used .......

(1) to begin each fresh line of

poetry.

{2) to begin a sentence.

(3) to begin all adjectives, which
describe God.

(4) to write the pronoun ‘I’ and

the interjection ‘O’,

One among the following is not the
suffix of Adjectives. Identifv it.

(1) -ful
(2) - less
(3) - some
(4) - hood
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81. _Nﬂ other democracy in the world | 84.
iR
Choose the right option to complete
the sentence.

(1) larger than India.
(2) the largest in India.
(3) not so large as India.
(4) as large as India.

82. One among the following does not
describe part of our body. Find it | 85.
out.

(1) plump
(2) curly

(3) wrinkled
(4) trendy

83. The exchanges of a conversation
between two people are given below
in a jumbled order. Identify their
right order to make a meaningful
conversation.

{a) Not too well,

(b) 1' m beginning to hate my job.

(¢) Hi George! How have you
been?

(d) How come? What's the | 86.
matter?

(e) 1 thought you quite liked it.

(1Y) c,a d b, e

(2) edaebd

(3} b,.c.e.ab

4) d,b,c, e a

TET-111-EM/TM [16]

Booklet Code

B

Identify the correct question for the
reply, ‘No, they have to finance
their own studies.”

(1)
(2)

Do they finance your studies ?

Do students in your country
get a grant ?

(3) Do you get credits for your

exams ?

(4) Do you get a grant for your

studies ?

Read the sentences (a), (b), (¢) and
(d). Out of them, only two are
grammatically correct. Identify them.

(a) 1 am seeing the doctor at

10 O’ clock.

I was wondering if you had
two single rooms.

(b)

(e) Iam looking forward to seeing

you again.
(d)
(1)
(2)
(3)
(4)

I am liking this music.
(b) and (d)
(a) and (b)
fa) and (d)
fh) and (c)

The British is sailing from
Southampton early this morning.
Identify the appropriate word to fill
in the blank.

(1) fleet
(2)  herd
(3) fleece
(4) flock
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87.

88.

TET-111-EM/TM

The file / folder with a collection of
learner’s work assembled over a
period of time is .......

(1)
(2)
(3)
(4)

a Journal

a Portfolio

a Bigbook

a Diary

The correct choice or option among

the alternatives in a Multiple
Choice Question is called .......

(1) Key

(2) Stem

(3) Option.
(4) Distractor

89.

90.

[17]

B

One of the tools of Formative
assessment 18 .......

(1)

Booklet Code

Conventions of writing.

(2) Reading comprehension.
(3) Project work.
(4) Grammar.

One of the features of Diary writing
T

(1) maintaining proper layout of

the text.
(2) design and graphics.
(3) use of polite language.
(4) use of language appropriate to

mood.
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91.

92.

93.

TET-111-EM/TM

Booklet Code

B

PART IV(a) : Mathematics - Content

The smallest number that must be
added to 321727, so that the
resultant exactly divisible by 3 is ....

2 53 Seppn 321727 i 305 Bhy Negs
3 3 e Photindotood?

(1) 3
(2) 1
@ 2
(4) 4

Number of Integers lie between (35)°
and (36)°

(35) wo0as (36)% o wodgie wrptons
oy

(1) 74
(2) 68
3y 72
(4) 70

Which of the following is not a

pythagorean triple.

30 225 DPIEAS (B0 TRO.
(1) 6,8,12

(2) 5,12,13

(3) 6,8,10

(4) 17,24,25

94.

95.

[18]

A glass rod of length 32.75 em is
broken_ into three pieces. If the
length of two pieces are 7.05 cm and
12.325 cm., then the length of the
third piece is (incm) ......
32.75 e, 2oy vo ¥ e :ug'._ 20
TP SR B0, Tels Dk e Gk, DEpes
7.05 0.5 Se0aiee 12.325 2a.2s. coosiy
Sebae ool D&Y (De. Deestd)
(1) 13.635
‘{2] 13.475
(3) 13.365
(4) 13.375
[124 -{(48 =6 + 4 x3-(-6))}]|=
(1) Eﬁﬁ

3
(2) 112
(3) 98
‘4) 122

After 12 years, Devasena’s age will
become four times that of her
present age, then her present age is
(in years) .....

12 el GUD Buak Solisis it
o 4 Texn SOBRN Lo B Sk

(Be58.ored’).

(1) 3
{2) 4
(3) S
(4) 6
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97. If a pie-chart is drawn for the
following data, then the angle of
sector representing mathematics

Subject English| Mathematics | Science

Marks | 17 2 18 16 13

- " o e, T,
- '

o
it Yoty e i Dete 2T Gosl), Sters

[ [

whgiEe | seee | zelly | xModa

ot | 17 | 20- 18 16 19
(1) 765
(2) 80°-
(3 7
(4) 68°
98. The parallel sides of a trapezium are

in the ratio of 2:5 and the distance
between parallel sides is 10 em. If the
area of trapezium is 350 em?, then
the lengths of parallel sides are
(inem) ...

L¥ BBovon Bdotnmnand® BEIeBy dre
%8 2:5 Sobdin HEPoBT ghere Nedy SRS
10 0.5, @0 poreye 350 3. 2e.2o. sl
D) BEPoBE fheve Dipoo (Re. Dowpd’)

(1) 12,60
(2) 10,25
(3) 20,50
(4) 15,75
TET-111-EM/TM

100.

101.

[19]

Booklet Code

B

If each edge of a cube is doubled,

then its volume becomes .....
I

fll g times

(2) 4 times

(3) 16 times

(4) 8times

Z " »,
¥ Blasiee Gty SO sotsieTasy 25

DTG BHOPORD) SeRnBdLei, ol
o N R S R
(1) : 30
( e,
B (2]
(2) 43T
(3) 16T
(4) 83Te

If the perimeter of an equilateral
triangle is 24 cm. then its altitude
is (inem) ...

X (Sour (B Gy, oty St 24

o, woson o 25 (e, ﬁmizé‘}

(1) 2443
(2) 343
(3) 1643
(4) 443

The size of the class of the classes

10 - 19; 20 - 29; 30 - 39; .........
10-19; 20- 29; 30-39; ......... slides
Dy, HVNO LTS

(1) 105

(2) 10.0-

(3y 9.0

(4) 9.4
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Booklet Code B

102. The part of the home work left. when | 104. In AABC, if ZA = 60°and £B = ~C,
” _ 5 ) then triangle ABC is .....
ranava finished 12 part of his home (1) Obtuse angled
1 (2) Scalene
k saturd d -
wnrdam": saturday an ) part on (3) Rightangled
sunaay is ..... (4) Equilateral
5 R in =
Bel B9 500 306 Wotss e — 3 eseins ABC 6! LA = 60° Sodaiv
12 ZB = ZC wooss Dot ABC
1
Py Selaks wdmtte el Pl (1) ot Bgomios
S8 35 geitie oA god 1D gk, (2) Sspoerine (@ghato
5 (3) couse Sgonnn
n 12 (4) SSerio Gatos
(2) -
3 105. The length of a Rectangle is 3 cm
more than its breadth. If its
3) 1 perimeter is 30 cm, then its length
4 is (in cm) .....
1 &% OY nosbiton Qe 2oy, oy Yo
(4} oy 3 mabs O e T B
12 DS, JEN. PR BxsSed 30 Do
coat o BY BBeUste dwY, FEp (Se.
= &
103. The largest of the fractions, 3
k1) .3
538 .8
7’5’ 14 an 1515 ..... (2) 10
3 9
5 B TR 0
7 5 5+ 14 P v L] 1 ., u%u&.
(1) ;—’ 106. On subtracting 3x” + 5x + 3 from
x* +6x -9
(2) 3 T + 6x-9 wed 3% + 5x + 31
5 Hdaem
Bt (1) Tx*-3% + x-12
14 3 2
3 (2) -Tx"-3x"+x+12
@, = (3) - =Tx® + 3% —x + 12
(4) T+ 3x%-x-12
TET-111-EM/TM [20]
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107.

108.

109.

TET-111-EM/TM

In a triangle, one of the exterior
angles is 84°, If its interior opposite
angles are in the ratio of 1 : 2, then
the angles of the triangle are ......

e (@hbeto Gl i Sered ¥ Fre
84°, w S wadodug e 0

1 : 2 costs & B4ionbay Gk, Brewo

(1) 40° 807, 60°
(2) 30° 60° 90°
(3) 247, 48°, 108°
(4) 28° 56° 96°

If PQRS is a parallelogram then,

.......

£P-ZR=....
(1) 60°

(2) 90°

3y 0°

(4) 45°

If 21% of a certain number is 63,
then the number is

e ogy Gaol, 21 Tone 63 e o Hexg

(1) 350
(2) 300
(3) 250
(4) 200

110.

111.

112.

121]

Booklet Code B
In a school, there are 3 teachers to
45 students. If 300 more students
are enrolled, then the number of
additional teachers required in the
school to maintain the same ratio.

] = Bk -
£X Zpmed® 45 Beed 2:‘5::.:.‘.: LT hA L
i

385 r."-.ﬁ;? ozes, adhlow ol

0" dalibunls ulier T Sdrgrtne
=%

(1) 20

(2) 30

(3 25

(4) 23

The present population of a city is
157464. If the population increased
by 8% annually then the population
of the city 3 years ago was .....

LY Bearaion Gk, (50 e 157464,
Bur e BeHton 8% DRSS BOMO.
3 Beltnoe 300 w Bues =T ...

(1) 1,25,000
(2) 1,00,000
(3) 1,20,000
(4) 1,15,000

The scale of map is given as
1:250000. Two cities are 6 cm apart
on the map. Then the actual
distance between them is .....

L8 Sestion sy, e 1:250000. o sesed’
Vot Serme Dok SPUL 6 el vl

G BLeTo Ll Pk SFLe

(1) - 25km
(2 15km
(3) 10km
(4) 6km
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Booklet Code B

113. If the mean of the observations | 114. The area of rectangular plot is
X5, %0 X e Xy 1S 30, then the mean 1875 sq. m. If its length is 3 times
ofx, + 2, %, + 4, .4+ 6, ...y its breadth, then the perimeter of

plot is (in metres)
X0+ 2018......

&8 85 BB PUY 308 Hobn By,
Xiy Xy Xgy wvvesve Xpp- 58030 aisas, DTesho 1875 =.5: o0 D308y, e,
eelbelete 30, ceasiix; + 2, x, + 4, Aoyt 3 Bexw woad & goid Sees ok,
X3+ 6, iy Xy + 20 Shhetic ook, Seenfod (Do) i
c:.:r”...:;a:.-.:m N i

(1) 200
(1) 42.

(2) 100
(2) 39

(3) 1000
(3) 40

(4) 625
{4y 41

TET111-EM/TM [22]

Page - 22


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

115.

116.

TET-111-EM/TM

Booklet Code B

Part - IV(b) : Methodology

A student generalizes that “If the
last digit of a numberis 0, 2, 4, 6, or
8, then that number is divisible
by 27, the Academic standard
attained by the student falls under ....

(1) Reasoning - proof

(2) Problem solving

(3) Communication

(4) Representation-visualisation
RO X Bepd® 290 2 0, 2, 4, 6 S
B &%, & Sexg 2 3 SRem PRotHEBIosy

(4) /SR8, Bouls - HiFosuie

According to the Piaget’s cognitive
development, the stage in which
the learner understands the law of
conservation is ....

(1)  Sensory- motor stage

(2) Formal operational stage
(3) Concrete operational stage
(4) Pre-operational stage

; - . £
ETOE IINSTeS” epgiats
5

[23]

117. The teaching method which helps

in proving geometrical theorems
with reasoning is ....

(1) Deductive method
(2) Project method
(3) Analysis method
(4) Inductive method

S TOrReS ﬂ‘E:.“.:-éc‘J: SFeTT ST
Sabond &

T Bt A 5

(1) o sgd
(2) @yeysgo
(3) due 8

(4) emsss vad

118.a+b=c,exb=avVa,b,ceN,

then the type of concepts involved
in this is ....

(1) Concrete concepts
(2) Conjunctive concepts
(3) Disjunctive concepts
(4) Relational concepts

a+b=c,exb=aVvVabceN
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119.

TET-111-EM/TM

The most appropriate teaching
material used by the teacher in
teaching of ‘decimal fractions’ to
the student is .......

(1) Bulliten Board
{(2) Fraction disc
(3)  Grid paper

(4) Black Board

[24]

Booklet Code B

120. The concepts of mathematics are in

hierarchical order. If a student does
not have the basic concepts, then
the corrective measure to be taken
up by the teacher to make the
student move forward in learning
3B

(1) To prepare special learning

material.

(2) To diagnose the learning
difficulties.

(3) To teach along with other
students.

(4) To diagnose and take up
remedial teaching.

1e3od’ Sives eiogteod’ doutan, DongE

Y rENe Be 305 oo Smed

et o 278 & RDovsnd

RS ot SissSueln e W

(1) @38 efms Do sosses
Salsie.

(2)  wggss S ein 2ove Sakte.

(3)  ©eud 2ongoed s SQouse.

(@) Voo I wssemsy S
mashdo.
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Booklet Code E

Part - V(a) : Environmental Studies - Content

121. This is not a pulse crop 124. Liquids are measured in these
1) Black ol
e i (1) Square meters
(2) Pea (2) Litres
(3) Ground nut ' (3) Meters
(4) Rag (4) Grams

By & [EErrFed® S,

20 Bere Dow W,
N (1) ooy boesbes

(1) oSovcseses | (2) bess
(2) o (3) foets
(8) Heswsx . (4) oo
(4)  orses (@oe) 125. The largest flower is seen in ......
(1) Lotus
122, This is rich in proteins (2) Passiflora
(1) Wheat (3) Rafflesia
(2) Rice (4) Sunflower
(3) Red gram DO e
(4) Maize (1) e
(2) o

825 P50 wbiam Lewown.
5 e (3) ko

o
L A (4) =536

(2) Daizes
(3)  =oties 126. Dust and smoke particles present
) in the air can cause this disease in
(4) SemFae human beings.
(1) Gastritis
123. Number of Pre-molars normally (2) anc_h}tls
found in adult human beings (3)  Arthritis

(4) Anaemia

ey nrewma 38 x =T = :
EPUTR skPuated B N eslOdqmesn - L TRl PR SRR TR
= i st &cd GP0 Sobdla oFH Crwino weh

(ases Seore) oy, Sospes® STh 20

(1) 8 (1) mzds

(2) 2 (2)  wrededs

(3) 4 (3) .JL?.;.L’.":

(4) 6 (4) 2w
TET-111-EM/TM [25]
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127. The layer nearest to the Earth

128.

129.

surface is .....

(1) Exosphere

(2) Troposphere
(3) Stratosphere
(4) Mesosphere
PrIod wO Sitm &5
(1) 2‘5.*'_: =l

(2) 555 uudme

(3) ;E_‘l Tt

(4) 57 s5Crme

These energies never get exhausted.

(1) Wind, sunlight
(2) Kerosene, wind, water
(3) Coal, sunlight, wind

(4) Natural gas, water
53 $ustes Jnt 50AF.
(1} ™2, sr5zed

(2) 2855, B, St

(3) &, wrUsed, e

(4) sre dkay, St
Falaknuma Palace built by the .....
(1) Salarjung - II1

(2) Quli Qutub Shah

(3)  Mir Osman Ali Khan
(4) Sir Viquar-ul-Umra

= . —t =
DOl Nohr SFDe “Opant.

(1) sexss Foboch
(2) =dxusd

(3) 6 u*.-,i.‘“; wdrs
(4) #E 2ot af-ap>

TET-111-EM/TM

131.

132.

[26]

Booklet Code

that is smaller thafi India.

(1) Canada
(2) Brazil

- (3) Australia
(4) Argentina

Sesom obdie Yol Uiy S,

(S

B

130. On the basis of area the country

(1) ==

(2) @8

(3)  wzbaur

4) e

Children are not having the

following right.

(1) Right to protection from wars.
(2) Right to survival.

(3) Right to be honoured.

(4) Right to employment.

228 A8 wrees Serin =8

(1) o Bood ¥ B iy,

(2) &203 iy,

(3) o= Pl imx,
(4) &g >t
Chairman of the

Drafting

Committee of Indian Constitution.

(1) Jawaharlal Nehru
(2) Dr. Rajendra Prasad
(3) Dr. B.R. Ambedkar
(4) K.M. Munshi

S TRl TP Boe et
(1) =55bef 24ne

(2) 2o

(3)
(4)
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133.

134.

135.

TET-111-EM/TM

In human beings, peripheral
nervous system consists of ...

(1) Cranial nerves and spinal
nerves.

(2) Brain & cranial nerves

(3) Spinal cord and spinal nerves.

(4) Brain and spinal cord.

St ot PESEE 30 dowrase.

(1) =dcmie &. ml-:l:‘ﬁf

(2) 2oz & s>ordoos

(3) nadwme & Wgrioos

(4) oz & Wnndsw

‘Pistil’ belongs to this part of a

flower.

(1) Gynoecium

(2) Calyx

(3) Corolla

(4) Androecium

ol Shyo Gl Us wrrend Delnd.

(1) wosS%e
(2) exxzow
(3) enusmend

(4) Snosud

This gland doesn’'t secrete digestive
enzymes

(1) Pancreas

(2) Salivary glands

(3) Gastric glands

{4) Liver

e 110D 25 JeBliuio Bloni.

(1) &%

(2} oo P

(3) o dsgew

(4) =Zaco

136. The disease

l. 3?‘

138.
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in human

‘Scurvy”

beings is caused due to the
deficiency of .....

(1) Folic acid

(2) Riboflavin

(3) Calciferol

(4) Ascorbic acid

BFTPIS" 8 T &Y Shio vg Bl
(L) -."i‘t-ﬂf-»nc

(2) 2&%05

(3) =i3c

(4) e Syt

Deoxygenated blood is collected

into this chamber of human heart
from the body parts.

(1) Right ventricle
- (2) Left atrium

(3) Right atrium

(4) Left ventricle

ST w00 reiiood Tmaaite ((oed) 85

T 0553 wiioed Ubs c:-_-_:: o T

(1) =& oo

(2) s %0

(3) =a gz

(4) ozus =50k

The factors  essential for

photosynthesis are .....

(1) CO,, Starch, Chlorophyll,
Sunlight.

(2) CO;, Hy0, Chlorophyll,
Sunlight.

(3) CO,, O,, Chlorophyll,
Sunlight.

(4) Glucose, CO,, Chlorophyll,
Sunlight.

127]
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(1)

(2)
(3)
4)

'3 353 -Mn.- .uu.- o OIS

=ad

CO,,
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(.101 H. ;tﬁ B0, e
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139. The world famous Ellora caves 142
belongs to this period.
(1) Kakatiyas
(2) Guptas
(3)  Mauryas E
(4) Vijayanagaras
o :..h.,;.:. oW Qn"v Hares 50 ol
[1} GG
(2) w=5es
(4) Secssns
140. At present the post offices are not
providing the following Service. 143.
(1) Sending telegrams
(2) Saves money
(3) Life insurance
(4) Post the letters
Eiote Fbioas Y 208 et wobobsw
oo,
(1) aTpehs Soise
(2) conowsihte
(3) o5 dus
(4) oo Stdaiie
141. The Mandal Praja Parishad
General body meeting is conducted | 144.
By i
(1) Agriculture Officer.
(2) Tahsildar
(3) Mandal Educational Officer.
(4) Mandal Parishad
Development Officer.
osde B2H085 sl wd soled, M
S,
(1) spd>angsd
(2) s:nd=b
(3) Sestc Soloe
(4)  Soole B0E LD o
TET-111-EM/TM [28]
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The author of the ‘Bhramarambika
Samvadam’

Booklet Code

(1) Kadukuntla Papa Sastri

(2) Anumula Venkata
Subrahmanya Sastri

(3) Pavuram Rangacharyulu

(4) Bahiri Gopala Rao

DD oo’ icksy

(1) s Fuey

(2)  wisioon Dot Sogtors; 77

(3) Spve Corrlece

(4) ° W8 FFrood

Gandipet tank is also known as ....
(1) Osman Sagar

(2) Hussain Sagar

(3) Ali Sagar

(4) Udaya Samudram

redaw R 3G XAT cowrde,

(1) a5 >x6
(2)  wolyS 2
(3) ‘wd>xb

(4) . & sose

This river does not flow in the
Telangana state.

(1) Penna

(2) Pranahitha

(3) Thungabhadra

(4) Kinnerasani

s 50 Deomrs e’ Eulnotish,
(1) =

(2)  (Seatns

(3) Bostigs

(4) 32530
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Part - V(b) : Methodology

145. This specification belongs to
“application”.
(1) Detect errors in a wrong

(2)
(3)

(4)

(4)

statement.
Recognise facts, concepts, etc.

Draw inference from the
relevent facts or data.

Classify items as per the
selected criteria.

2 ey - - - -
o f;l:ﬂ: "-~-|-n-":‘l-l1‘1.i3 e,

soeedn uihe (statement) &

- |
E3ens lotoe.

—eieie cueke.

SILTC GTloIT GO

146. This is not one of the principles of
curriculum construction.

(1) Principle of elasticity.

(2) Principle of activity.

(3) Principle of creativity.

(4) Principle of teacher

centredness.

SFBe fAdistos srte

(1) &8st Sawiee

(2) 5 Latioe

(3)  pemuE Aaktee

(4) oe>gan-Sodyy Labteo
TET-111-EM/TM

147. Find the incorrect statement about
aims and objectives of Science
teaching.

(1) Aim  involves  all-round
development of an individual
which is beyond the scope of
the school, where as objective
is specific, immediate and
visible change brought in a
learner during an
instructional hour.

(2) Aim is a distant goal, while
objective is a short-term goal
which is meaningful, clear and
precisely defined.

(3) Objectives come from aim
whose attainments are steps
towards achievement of
educational aim.

4) Aim can be achieved at a
short-time with hard work
without breaking aim into
objectives.

Lan Ty S0 adees Noldin e

Benelel HOMO. '

(1) a5 S3dey, ool 23drld

(2) &3 Bgzess® Fpoundn =,

-
; B,
ofo RdTosd IQoRuEndd,
. = -
GYueBlonh, Wadaand  Soldia
i [ -
. oy - 3 . i Y
E-_?-Qi? '.v;_sh'ﬁuwu-‘-‘a oo esareld
-

(3) ez, &l Sed SrdRelolind,

- . y
(4) &S3e, opeom IScludiiec
2 5
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148.

149.

Recently Education department
introduced this for strengthening
the teaching learning process.

(1) Extension classes

(2) Digmtal classes

(3) Library classes

(4) Self learning classes

(1)  Z5es s
(2) &a2of suisoe
(3)

5 A . T T e
(4) k) "‘-‘"I“'I‘I:'IH"‘ i it:“:‘m
- ]

- - . i S
‘5:;.‘5.1.-. : i-;'\.;ldl.l':l:-“t"

|
-

This method is useful! for handling
the lesson ‘Gems of Clay’:

(1) Question and Answer method.
(2) Lecture method.

(3) Story telling method.

(4) Field study.

e . -
43 aa AED L0, o an? prd g™ B L LN
WP SN TR’ UL ST S0 souD
- —
s — - '::. - -
QRUCIFNC Y Ll
-
-.-:‘"_"": e S S
(1} o' O G
- il -
R e ATy
(2) Eanv rve soatd
b

(3): .=
4) 3
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150. Teaching learning process always

should be focused on

(1)

(2)

(2)
(3)

(4)

School centred
Subject centred
Teacher centred

Student centred
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